Chem 1

Atoms, Ions and Isotopes
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1. Complete the following table
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Name Symbol Atomic Mass Electrons | Neutrons
Notation Number Number '

Sodium “Ne 11 23
Nitrogen CAN B 14 1 |
-— b7/ 1 4
Lithium Ly 7 i 3 6
Boron '3 5 11 5 (o
Lead %%PD g7 |206 BZ 24
Nitrogen N M 174 N 6

{ron RIATS 26 > 1 L |31
Calcium 3 C o 2.0 40 7o) (&)
Francium = 31 205 Y1 136
Strontium 335 38 =5 ¥4 SO
Beryllium 4 %e. 4 Z S s
Magnesium | % Ma- 12 2<} [T RS
Arsenic = A 73 35 23 |42

2. Write a symbol notation for the element manganese.
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3. Write the symbol notation for three isotopes of carbon: carbon-12, carbon-13

and carbon-14. 4
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4. Draw the Bohr model! for fluorine:

Explain why fluorine isn’t “happy” with this configuration and what it would like to

have instead. N —t - /ﬁf JB
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How will fluorine aghieve this2. = "0 . G
@(&A ong- €
What charge will it become in order to achieve the desired configuration?

5. Using the periodic table, indicate the charge for the following elements when they
become charged:

Calcium 47
Fluorine —

lodine — |
Magnesium +2
Sodium A
Potassium 3
Aluminum +3
oxygen — 7

6. The term for a positively charged ionis ____ C ﬁt—’H on

)
7. The term for a negatively charged ionis __ OW 1 O M\

8. Complete the following table:

Symbol Atomic Mass
Notation | Number | number Neutrons | Protons | Electrons | Charge

Gyt 1 sd | (32 | 18 | 58| 948 |+
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